
SAP ABAP table CRMC_IPM_HIER_T {Hierarchy View Description}

CRMC_IPM_HIER_T

CLIENT [CLNT (3)]

HIERAR_VIEWS [CHAR (6)]

PRODUCT_TYPE [CHAR (2)]

LANGUAGE [LANG (1)]

VIEW_DESCRIPTION [CHAR (40)]

CRMC_IPM_HIERARV

CLIENT [CLNT (3)]

HIERAR_VIEWS [CHAR (6)]

PRODUCT_TYPE [CHAR (2)]

PROF_ID [CHAR (10)]

 CRMC_IPM_HIER_T-HIERAR_VIEWS = CRMC_IPM_HIERARV-HIERAR_VIEWS 
1..N

1 T000

MANDT [CLNT (3)]

 CRMC_IPM_HIER_T-CLIENT = T000-MANDT 
0..N0..N

T002

SPRAS [LANG (1)]

 CRMC_IPM_HIER_T-LANGUAGE = T002-SPRAS 

0..N

0..N


